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P = -300(n-6)² +58 800

The maximum value of P is $58000 when n=6
Therefore, the price that will maximize profits is

old price + 6(increases of $300 each) = 
= $6400     + 6($300)
= $8200

Similar to question 13, 14 from ws#1 9( ex6-8)Example

Hathaway Motors currently sell an average of 20 cars each
week at a price of $6400 each.  The sales department wants to
increase the price, but the marketing department predicts that for
every $300 increase, sales will fall by one car.  If the dealer
cost(cost to the dealer) for each car is $4000, what price will 
maximize profits?
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